

**CERTAIN SUBCLASS OF ANALYTIC FUNCTIONS ASSOCIATED
WITH CAPUTO'S FRACTIONAL DIFFERENTIATION**

JAMAL SALAH AND MASLINA DARUS

ABSTRACT. In this paper, we define a class $T_{\eta,\lambda}(\alpha, \beta, A, B)$ of analytic functions involving the integral operator given by the authors. Several results like characterization property, distortion theorem and other interesting properties of the same class are provided.

1. INTRODUCTION

Due to the extension of the theory of univalent functions, many authors have applied various operators to create new subclasses. Here specifically we look at the fractional calculus operators being used to introduce new subclasses of analytic functions (see [4], [6]) as it's convenient to replace certain fractional integral or differential operator into extensions of well know classes of analytic functions to produce new subclasses. In our case we, are into involving an integral operator presented by [7] to define a subclass of analytic function and then to further investigate the given subclass into its characterization (see [6]), such as the distortion theorem ([3],[5]). Also we can get interesting results by applying Hadamard product ([2]).

Let A denote the class of functions of the form

$$f(z) = z + \sum_{n=2}^{\infty} a_n z^n \quad (1)$$

which are analytic in the unit disk $U = \{z : |z| < 1\}$. Also denote by T the subclass of A consisting of functions of the form

$$f(z) = z - \sum_{n=2}^{\infty} a_n z^n \quad (2)$$

In [7], Caputo's definition of the fractional-order derivative has been used to introduce the integral operator $J_{\eta,\lambda}f(z)$ that we will be used as an application to the class $S_{\lambda,\mu,\eta}(\alpha, \beta, A, B, m)$ (see [1]) that has been studied in special cases by many authors like ([3], [4], [5]) by considering different operators. Note also that the modified fractional derivative operator of Saigo (see [1] and [8]) has also been used to study their classes.

Salah and Darus [7] made use of the following Caputo's definition of the fractional-order derivative

$$D^\alpha f(t) = \frac{1}{\Gamma(n-\alpha)} \int_a^t \frac{f^{(n)}(\tau)}{(t-\tau)^{\alpha+1-n}} d\tau$$

2010 *Mathematics Subject Classification.* 30C45.

Key words and phrases. Caputo's differentiation operator; Hadamard product; Analytic functions; Distortion theorem.

where $n - 1 < \operatorname{Re}(\alpha) \leq n, n \in N$, and the parameter α is allowed to be real or even complex, a is the initial value of the function f , together with the generalization operator of Salagean derivative operator and Libera integral operator

$$\Omega^\lambda f(z) = \Gamma(2 - \lambda) z^\lambda D_z^\lambda f(z) = z + \sum_{n=2}^{\infty} \frac{\Gamma(2 - \lambda) \Gamma(n + 1)}{\Gamma(n - \lambda + 1)} a_n z^n$$

for any real λ , we introduce the following integral operator

$$J_{\eta, \lambda} f(z) = \frac{\Gamma(2 + \eta - \lambda)}{\Gamma(\eta - \lambda)} z^{\lambda - \eta} \int_0^z \frac{\Omega^\eta f(\xi)}{(z - \xi)^{\lambda + 1 - \eta}} d\xi$$

where η (real number) and $(\eta - 1 < \lambda \leq \eta < 2)$.

This operator has the following Taylor series expansion

$$J_{\eta, \lambda} f(z) = z + \sum_{n=2}^{\infty} \frac{(\Gamma(n + 1))^2 \Gamma(2 + \eta - \lambda) \Gamma(2 - \eta)}{\Gamma(n + \eta - \lambda + 1) \Gamma(n - \eta + 1)} a_n z^n,$$

that satisfies $J_{0,0} = f(z), J_{1,1} = z f'(z)$.

(For further details you may refer to [7]).

Now, depending on the previous contribution we introduce a subclass $S_{\eta, \lambda}(\alpha, \beta, A, B)$ of analytic functions $f \in A$ and satisfying the condition

$$\left| \frac{(J_{\eta, \lambda})' f(z) - 1}{(B + (A - B)(1 - \alpha)) - B(J_{\eta, \lambda})' f(z)} \right| < \beta$$

$z \in U, 0 \leq \eta < 2, \eta - 1 < \lambda \leq \eta, 0 \leq \alpha < 1, 0 < \beta \leq 1, -1 \leq B < A \leq 1, 0 < A \leq 1,$

$$J_{\eta, \lambda} f(z) = z + \sum_{n=2}^{\infty} \frac{(\Gamma(n + 1))^2 \Gamma(2 + \eta - \lambda) \Gamma(2 - \eta)}{\Gamma(n + \eta - \lambda + 1) \Gamma(n - \eta + 1)} a_n z^n$$

Further, we define

$$T_{\eta, \lambda}(\alpha, \beta, A, B) = S_{\eta, \lambda}(\alpha, \beta, A, B) \cap T$$

Next, we will start our work by studying the characterization properties.

2. CHARACTERIZATION

Theorem 1. *A function f defined by (2) is in the class $T_{\eta, \lambda}(\alpha, \beta, A, B)$ if and only if*

$$\sum_{n=2}^{\infty} n \varphi(n) (1 - B\beta) a_n \leq \beta (A - B) (1 - \alpha) \quad (3)$$

where

$$\varphi(n) = \frac{(\Gamma(n + 1))^2 \Gamma(2 + \eta - \lambda) \Gamma(2 - \eta)}{\Gamma(n + \eta - \lambda + 1) \Gamma(n - \eta + 1)}.$$

Proof. Suppose that (3) holds true, and let $|z| = 1$. Then

$$\begin{aligned} & \left| (J_{\eta,\lambda})' f(z) - 1 \right| - \beta \left| (B + (A - B)(1 - \alpha)) - B (J_{\eta,\lambda})' f(z) \right| \\ &= \left| - \sum_{n=2}^{\infty} n\varphi(n) a_n z^{n-1} \right| - \beta \left| ((A - B)(1 - \alpha)) + B \sum_{n=2}^{\infty} n\varphi(n) a_n z^{n-1} \right| \\ &\leq \sum_{n=2}^{\infty} n\varphi(n) (1 - \beta B) a_n - (A - B)(1 - \alpha) \leq 0, \text{ by hypothesis.} \end{aligned}$$

Therefore, it follows that $f \in T_{\eta,\lambda}(\alpha, \beta, A, B)$

Conversely, suppose that $f \in T_{\eta,\lambda}(\alpha, \beta, A, B)$.

Then

$$\left| \frac{(J_{\eta,\lambda})' f(z) - 1}{(B + (A - B)(1 - \alpha)) - B (J_{\eta,\lambda})' f(z)} \right| = \frac{\left| \sum_{n=2}^{\infty} n\varphi(n) a_n z^{n-1} \right|}{\left| ((A - B)(1 - \alpha)) + B \sum_{n=2}^{\infty} n\varphi(n) a_n z^{n-1} \right|} < \beta, (z \in U).$$

Since $\Re(z) \leq |z|$, for all z , we get

$$\Re \left(\frac{\left| \sum_{n=2}^{\infty} n\varphi(n) a_n z^{n-1} \right|}{\left| ((A - B)(1 - \alpha)) + B \sum_{n=2}^{\infty} n\varphi(n) a_n z^{n-1} \right|} \right) < \beta.$$

Now choosing the value of z on real axis, simplifying and letting $z \rightarrow 1^-$ through the real values, we get

$$\sum_{n=2}^{\infty} n\varphi(n) a_n \leq \beta(A - B)(1 - \alpha) + B\beta \sum_{n=2}^{\infty} n\varphi(n) a_n,$$

which yields (3).

We also note that the assertion (3) is sharp and extremal function is given by

$$f(z) = z - \frac{\beta(A - B)(1 - \alpha)}{n(1 - B\beta)\varphi(n)} z^n, (n \geq 2).$$

□

Corollary 1. Let the function f defined by (2) belongs to the class $T_{\eta,\lambda}(\alpha, \beta, A, B)$. Then

$$a_n \leq \frac{\beta(A - B)(1 - \alpha)}{n(1 - B\beta)\varphi(n)} z^n, (n \geq 2).$$

3. DISTORTION THEOREM

Theorem 2. Let the function f defined by (2) belongs to the class $T_{\eta,\lambda}(\alpha, \beta, A, B)$. Then

$$|f(z)| \geq |z| - \frac{\beta(A - B)(1 - \alpha)(2 - \eta)(2 + \eta - \lambda)}{8(1 - B\beta)} |z|^2. \tag{4}$$

And

$$|f(z)| \leq |z| + \frac{\beta(A - B)(1 - \alpha)(2 - \eta)(2 + \eta - \lambda)}{8(1 - B\beta)} |z|^2 \tag{5}$$

Proof. If $f(z) \in T_{\eta,\lambda}(\alpha, \beta, A, B)$, then by virtue of Theorem 1, we have

$$2\varphi(2)(1-B\beta) \sum_{n=2}^{\infty} a_n \leq \sum_{n=2}^{\infty} n\varphi(n)a_n(1-B\beta) \leq \beta(A-B)(1-\alpha).$$

This yields

$$\sum_{n=2}^{\infty} a_n \leq \frac{\beta(A-B)(1-\alpha)}{2\varphi(2)(1-B\beta)} = \frac{\beta(A-B)(1-\alpha)(2-\eta)(2+\eta-\lambda)}{8(1-B\beta)}.$$

Now,

$$|f(z)| \geq |z| - |z|^2 \sum_{n=2}^{\infty} a_n \geq |z| - \frac{\beta(A-B)(1-\alpha)(2-\eta)(2+\eta-\lambda)}{8(1-B\beta)} |z|^2.$$

Also

$$|f(z)| \leq |z| + |z|^2 \sum_{n=2}^{\infty} a_n \leq |z| + \frac{\beta(A-B)(1-\alpha)(2-\eta)(2+\eta-\lambda)}{8(1-B\beta)} |z|^2,$$

which prove the assertion (4) and (5). \square

Corollary 2. *Under the hypothesis of Theorem 2, $f(z)$ is included in a disk with its center at the origin and radius r given by*

$$r = 1 + \frac{\beta(A-B)(1-\alpha)(2-\eta)(2+\eta-\lambda)}{8(1-B\beta)}.$$

4. PROPERTIES OF THE CLASS $T_{\eta,\lambda}(\alpha, \beta, A, B)$

Now we study some properties of the class $T_{\eta,\lambda}(\alpha, \beta, A, B)$.

Theorem 3. *Let $0 \leq \eta < 2, \eta - 1 < \lambda \leq \eta, 0 \leq \alpha < 1, 0 < \beta \leq 1, -1 \leq B < A \leq 1, 0 < A' \leq 1, 0 \leq \alpha' < 1, 0 < \beta' \leq 1, -1 \leq B' < A' \leq 1, 0 < A' \leq 1$. Then*

$$T_{\eta,\lambda}(\alpha, \beta, A, B) = T_{\eta,\lambda}(\alpha', \beta', A', B') \quad (6)$$

if and only if

$$\frac{\beta(A-B)(1-\alpha)}{(1-B\beta)} = \frac{\beta'(A'-B')(1-\alpha')}{(1-B'\beta')}. \quad (7)$$

Proof. Assume that $f \in T_{\eta,\lambda}(\alpha, \beta, A, B)$, and let the condition (7) holds true. By using Theorem 1 we have

$$\sum_{n=2}^{\infty} n\varphi(n)a_n \leq \frac{\beta(A-B)(1-\alpha)}{(1-B\beta)} = \frac{\beta'(A'-B')(1-\alpha')}{(1-B'\beta')},$$

which shows that $f \in T_{\eta,\lambda}(\alpha', \beta', A', B')$ by Theorem 1.

Reversing the above steps, we can establish the other part of the equivalence of (6). Conversely, the assertion (6) can be used to imply the condition (7) and this completes the proof of Theorem 3. \square

Theorem 4. Let $0 \leq \eta < 2, \eta - 1 < \lambda \leq \eta, 0 \leq \alpha_1 \leq \alpha_2 < 1, 0 < \beta \leq 1, -1 \leq B < A \leq 1, 0 < A \leq 1$. Then

$$T_{\eta,\lambda}(\alpha_2, \beta, A, B) \subset T_{\eta,\lambda}(\alpha_1, \beta, A, B).$$

Proof. The result follows easily from Theorem 1. \square

5. RESULTS INVOLVING HADAMARD PRODUCT

Let $f(z) = z - \sum_{n=2}^{\infty} a_n z^n, a_n \geq 0, g(z) = z - \sum_{n=2}^{\infty} b_n z^n, b_n \geq 0$.

Then the modified Hadamard product is given by $(f * g)(z) = z - \sum_{n=2}^{\infty} a_n b_n z^n$.

Theorem 5. Let the functions $f_i(z), i = 1, 2, \dots, r$. be defined by

$$f_i(z) = z - \sum_{n=2}^{\infty} C_{n,i} z^n, (C_{n,i} \geq 0) \quad (8)$$

be in the class $T_{\eta,\lambda}(\alpha_i, \beta_i, A_i, B_i)$ respectively. Then

$$f_1 * f_2 * \dots * f_r(z) \in T_{\eta,\lambda} \left(\prod_{i=1}^r \alpha_i, \prod_{i=1}^r \beta_i, \prod_{i=1}^r A_i, \prod_{i=1}^r B_i \right).$$

The result is sharp.

Proof. By hypothesis, $f_i(z) \in T_{\eta,\lambda}(\alpha_i, \beta_i, A_i, B_i)$, for all $i = 1, 2, \dots, r$. Therefore by Theorem 1, we have

$$\sum_{n=2}^{\infty} n\varphi(n) (1 - B_i \beta_i) C_{n,i} \leq \beta_i (A_i - B_i) (1 - \alpha_i), \quad (9)$$

and

$$\sum_{n=2}^{\infty} C_{n,i} \leq \frac{\beta_i (1 - \alpha_i) (A_i - B_i) (2 - \eta) (2 + \eta - \lambda)}{8 (1 - B_i \beta_i)}. \quad (10)$$

For β_i satisfying $0 < \beta_i \leq 1$, we observe that

$$\begin{aligned} \sum_{n=2}^{\infty} n\varphi(n) \left[1 - \prod_{i=1}^r B_i \beta_i \right] \prod_{i=1}^r C_{n,i} &\leq \sum_{n=2}^{\infty} n\varphi(n) [1 - B_r \beta_r] \prod_{i=1}^r C_{n,i} \\ &= \sum_{n=2}^{\infty} \{n\varphi(n) [1 - B_r \beta_r] C_{n,r}\} \prod_{i=1}^{r-1} C_{n,i}. \end{aligned}$$

Now, using (9) for any fixed $i = r$, and (10) for the rest, it follows that

$$\sum_{n=2}^{\infty} n\varphi(n) \left[1 - \prod_{i=1}^r B_i \beta_i \right] \prod_{i=1}^r C_{n,i} \leq \frac{\beta_r (A_r - B_r) (1 - \alpha_r) \prod_{i=1}^{r-1} \beta_i (A_i - B_i) (1 - \alpha_i) (2 - \eta)^{r-1} (2 + \eta - \lambda)^{r-1}}{8^{r-1} \prod_{i=1}^{r-1} (1 - B_i \beta_i)}$$

$$\begin{aligned}
&\leq \prod_{i=1}^r \beta_r \prod_{i=1}^r (A_i - B_i) \prod_{i=1}^r (1 - \alpha_i) \left[\frac{(2-\eta)(2+\eta-\lambda)}{8 \left(1 - \max_{1 \leq i \leq r} B_i \beta_i\right)} \right]^{r-1} \\
&\leq \prod_{i=1}^r \beta_i \left[\prod_{i=1}^r A_i - \prod_{i=1}^r B_i \right] \left[\prod_{i=1}^r (1 - \alpha_i) \right] \\
&\text{because } 0 < \left[\frac{(2-\eta)(2+\eta-\lambda)}{8 \left(1 - \max_{1 \leq i \leq r} B_i \beta_i\right)} \right]^{r-1} < 1
\end{aligned}$$

Hence with the aid of Theorem 3, the proof is complete. \square

Corollary 3. *Let the functions f_1, f_2, \dots, f_r defined by (8) be in the class $T_{\eta, \lambda}(\alpha, \beta, A, B)$. Then*

$$f_1 * f_2 * \dots * f_r(z) \in T_{\eta, \lambda}(\alpha^r, \beta^r, A^r, B^r).$$

Theorem 6. *Let the functions $f_i(z)$ ($i = 1, 2$), defined by (8) be in the class $T_{\eta, \lambda}(\alpha, \beta, A, B)$. Then*

$$f_1 * f_2(z) \in T_{\eta, \lambda}(\sigma, \beta, A, B), \quad (11)$$

where

$$\sigma = \sigma(\alpha, \beta, A, B) = 1 - \frac{\beta(A-B)(1-\alpha)^2(2+\eta-\lambda)(2-\eta)}{8(1-B\beta)}, \quad (12)$$

the result is sharp.

Proof. We need to find the largest σ such that

$$\sum_{n=2}^{\infty} \frac{n\varphi(n)(1-B\beta)}{\beta(A-B)(1-\sigma)} C_{n,1} C_{n,2} \leq 1,$$

where σ is the function given by (12). By Cauchy-Schwarz inequality, it follows from Theorem 1 that

$$\sum_{n=2}^{\infty} \frac{n\varphi(n)(1-B\beta)}{\beta(A-B)(1-\alpha)} \sqrt{C_{n,1} C_{n,2}} \leq 1. \quad (13)$$

Let's find σ such that

$$\sum_{n=2}^{\infty} \frac{n\varphi(n)(1-B\beta)}{\beta(A-B)(1-\sigma)} C_{n,1} C_{n,2} \leq \sum_{n=2}^{\infty} \frac{n\varphi(n)(1-B\beta)}{\beta(A-B)(1-\alpha)} \sqrt{C_{n,1} C_{n,2}} \leq 1,$$

which implies that

$$\sqrt{C_{n,1} C_{n,2}} \leq \frac{1-\sigma}{1-\alpha}, n \geq 2.$$

In view of (13), it suffices to find the largest σ such that

$$\frac{\beta(A-B)(1-\alpha)}{n\varphi(n)(1-B\beta)} \leq \frac{1-\sigma}{1-\alpha},$$

which yields

$$\sigma \leq 1 - \frac{\beta(A-B)(1-\alpha)^2}{n\varphi(n)(1-\beta B)}.$$

That is

$$\sigma \leq 1 - \frac{\beta(A-B)(1-\alpha)^2}{(1-\beta B)}\theta(n),$$

where

$$\theta(n) = \frac{1}{n\varphi(n)}.$$

Noting that $\theta(n)$ is decreasing function of n . Then

$$\sigma \leq \sigma(\alpha, \beta, A, B) = 1 - \frac{\beta(A-B)(1-\alpha)^2}{(1-B\beta)}\theta(2).$$

Hence (11) is proved. The result is sharp by the considering the function

$$f_i(z) = z - \frac{\beta(A-B)(1-\alpha)^2(2+\eta-\lambda)(2-\eta)}{8(1-B\beta)}z^2, (i = 1, 2).$$

□

Acknowledgement. The work presented here was supported by UKM-ST-06-FRGS0244-2010.

REFERENCES

- [1] Joshi, S.S., *A Certain Class of Analytic Functions Associated With Fractional Derivative Operators*, Tamsui Oxford J. Math. Sci. 24(2) (2008), 201-214.
- [2] Schild, A., Silverman, H., *Convolution of univalent functions with negative coefficients*, Ann. Univ. Marie-Curie Sklodowska Sect A 19 (1975), 99-107.
- [3] Owa, S., *On the distortion theorems I*, Kyungpook Math. J. 18 (1978), 53-59.
- [4] Raina, R.K., *On certain classes of analytic functions and applications to fractional calculus operators*, Integral Transform. Spec. Funct. 5(1997), 247-260.
- [5] Raina, R.K., Bolia, M., *On distortion theorems involving generalized fractional calculus operators*, Tamkang J. Math. 27 (1996), 233-241.
- [6] Raina, R.K., Bolia, M., *Characterization properties for starlike and convex functions involving a class of fractional integral operator*, Rend. Sem. Math. Univ. Padova 97 (1997), 61-71.
- [7] Salah, J., Darus, M., *A subclass of uniformly convex functions associated with fractional calculus operator involving caputo's fractional differentiation*, Acta Universitatis Apulensis, No. 24/2010, 295-304.
- [8] Saigo, M., Raina, R.K., Kilbas, A.A., *On generalized fractional calculus operator and their composition with axis symmetric differential operator of potential theory on spaces F_μ and F'_μ* , Fukuoku Univ. Sci. Rep. 23 (1993), 133-154.

UNIVERSITI KEBANGSAAN MALAYSIA
SCHOOL OF MATHEMATICAL SCIENCES
BANGI 43600 SELANGOR D. EHSAN, MALAYSIA
E-mail address: damous@yahoo.com

UNIVERSITI KEBANGSAAN MALAYSIA
SCHOOL OF MATHEMATICAL SCIENCES
BANGI 43600 SELANGOR D. EHSAN, MALAYSIA
E-mail address: maslina@ukm.my